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PALO ALTO COLLEGE

Mathematics Department
Difference of Squares
A2—-B2=(A+B)(A—-B)

Sum of Cubes

A3 + B3 = (A + B)(A%? — AB + B?)
Difference of Cubes

A3 — B3 = (A—B)(A? + AB + B?)
Slope

Yi— Y2

X3 — X2

Slope Intercept
y=mx+b

Point Slope

Y=Y =mx—x)
Two Point

b . P
Yy }’1—x1_x2(x x1)

Distance

d= (x; —x2)% + (y1 — ¥2)?
mid =(x1 +X2 Y1 +}’z)
20

7/
Domain

f(x)= YAx +B

Quadratic Formula

setAx+B =0

ax?+bx+c=0

a=__b=__c= ___
x_—bi\/bz—ti-ac
a 2a
it=-1 J-1=i
0
a¥0 a®=1 —-=0
. a

a 0
7= undefined 7= indeterminate

03/21/2013
Absolute Value
xl=a x=-a or x=a
x| <a —a<x<a
x| >a x<-a or x>a
Vertex
Min _[_b (_ b )
Max 2a’ 2a
Average Rate of Change
x=Atox=B8B
f(B) = f(4)

B—-A

Compounded Continuous
(Population) A = Pe™
Compounded Monthly/Daily

a=p(1 +%)m

Half Life
t

=)

Composites
F-x)=f(x)—gC)
F+9E) =Ffx) +9(x)
(fg) = fx) »g(x)

5=

(fo ) =f(gx))
GoNE)=9(F ()
Difference Quotient

fx+h)~f(x)
h
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Rules of In/log J,-f/ ,
(.
In(A4) + In(B) = In(AB) \_~

In(4) — In(B) = In (%)
In(4™) = N In(4)

In(e) =1

In(1)=0

In(A) =In(B) thenA =B
Change of Base

1
logs(4) = %

logp(b) = 1
logy () =x
A% =AY

then b*=y
then x=y
If log,(Ax + B) =log,(Cx + D)
then (Ax+B) = (Cx + D)
Same base power rule
[f AX+B = pCx+D
thenAx+B=Cx+D
If logp(Ax+B)=C
then b*=Ax+B
Domain
f(x) =log(Ax + B)
setAx+B >0
Circle Formula
(x—a)? + - b)? =17

Center(a, b); Radius=r

Pythagorean Theorem A
Amortization .
22 B . Summation
M . A=p (;t') — Z(Ax + B) - Calculator: sum(seq(Ax + B, x,a.b. 1))
n \\‘ B r. ~nt ) Y=a
s T (1-(+3) (4+BYY = NCo(A) (B)° + NCL(A)*1(B)! + -+ + 4 Cu(A)°(B)"



